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41 × 26 Have a think

H T O

4 1

2 6

(41 × 6)6422

×

+

6



41 × 26

H T O

4 1

2 6

(41 × 6)642

(41 × 20)028

6601

41 × 26 = 1,066

×

+

2



32 × 46 = 320 
Have a think
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Have a go at the questions 
1 - 4 on the worksheet



Tommy wants to find the area of the blue part of the 
rectangle. 

Have a think
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Tommy wants to find the area of the blue part of the 
rectangle. 

35 cm

16 cm12 cm12 cm

7 cm7 cm

35 × 16 = 560

12 × 7 = 84

84 × 2 = 168
560 − 168 = 392 cm
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Have a go at the questions 
5 and 6 the worksheet


